
05.10 Глушитель выхлопа, выхлопной трубопровод 
 

 
 



№ в 
рисунке 

№ по 
каталогу Наименование Примечание 

001 2075900884 Глушитель выхлопа  
002 2050910434 Кольцо уплотнительное  
003 2075911414 Трубка к глушителю  
004 3091144840 Болт M10 x 45 ISO 4014 - 8.8 MKS 720 
005 3091172210 Болт M10 x 80 ISO 4014 - 8.8 MKS 720 
006 3111108850 Шайба пружинная 10 CSN 02 1741.0 MKS 720 
007 3111101140 Гайка M10 ISO 4032 - 8 MKS 720 
008 2075911404 Трубка  
009 2075911394 Трубка  
010 2050520114 Пружина  
011 3192320400 Кольцо поршневое 10-115-35-01 
013 2055030284 Хомут  
014 3111100610 Гайка M8 ISO 4032 - 5 MKS 720 
015 2076060414 Лента крепления  
016 3111108840 Шайба пружинная 8 CSN 02 1741.05 MKS 720 
017 3111105360 Шайба 8,4 CSN 02 1702.1 MKS 720 
018 3111101160 Гайка M12 ISO 4032 - 8 MKS 720 
019 3111108860 Шайба пружинная 12 CSN 02 1741.05 MKS 720 
020 2075911504 Наконечник глушителя  
021 2029390134 Скоба  
022 3091147180 Болт M8 x 25 ISO 4017 - 8.8 MKS 720 
023 3111108840 Шайба пружинная 8 CSN 02 1741.05 MKS 720 
024 3111100610 Гайка M8 ISO 4032 - 5 MKS 720 
025 2075300124 Моторный тормоз  
026 2025490094 Корпус тормоза  
027 2012100104 Заслонка  
028 3111127020 Заклепка 6 x 30 CSN 02 2301.1 
029 2075020224 Вал заслонки  
030 2072965114 Кронштейн  
031 2051240114 Подкладка иыолирующая  
032 4436120070 Пневматический цилиндр 63 03 9612.45 
033 3091172370 Болт M12 x 90 ISO 4014 - 8.8 MKS 720 
034 3091172040 Болт M6 x 25 ISO 4014 - 8.8 MKS 720 
035 3091110200 Болт M12 x 25 ISO 4017 - 5.6 MKS 720 
036 3111108860 Шайба пружинная 12 CSN 02 1741.05 MKS 720 
037 3111100670 Гайка M12 ISO 4032 - 5 MKS 720 
038 3111108830 Шайба пружинная 6 CSN 02 1741.05 MKS 720 
039 3111100590 Гайка M6 - 5 MKS 720 ISO 4032 
040 3111105350 Шайба 6,4 CSN 02 1702.15 MKS 720 
041 3111105380 Шайба 13 CSN 02 1702.1 MKS 720 
042 3091113320 Болт M8 x 30 ISO 4017 - 5.8 MKS 720 
043 3111100610 Гайка M8 ISO 4032 - 5 MKS 720 
044 2070350874 Тройник  
045 2075910794 Трубка выхлопная левая  
046 2075910784 Трубка выхлопная правая  
047 2050910344 Кольцо  
048 3091144900 Болт M12 x 45 ISO 4014 - 8.8 MKS 720 
049 3111108860 Шайба пружинная 12 CSN 02 1741.05 MKS 720 



№ в 
рисунке 

№ по 
каталогу Наименование Примечание 

050 3111101160 Гайка M12 ISO 4032 - 8 MKS 720 

051 3111121750 Палец 10 x 28 x 24 CSN 02 2112.0 MKS 
720 

052 3111111320 Шплинт 3,2 x 20 ISO 1234 - St MKS 720 
053 3111108860 Шайба пружинная 12 CSN 02 1741.05 MKS 720 
054 2032220314 Скоба трубки  
055 2032220324 Скоба трубки  
056 3091113500 Болт M10 x 22 ISO 4017 - 5.8 MKS 720 
057 3111100640 Гайка M10 ISO 4032 - 5 MKS 720 
058 3111108850 Шайба пружинная 10 CSN 02 1741.0 MKS 720 
061 3091145380 Болт M12 x 45 ISO 4014 - 8.8 - C5 
063 2050762594 Опора заслонки  
064 3091147310 Болт M10 x 25 ISO 4017 - 8.8 MKS 720 

 


	05.10 Глушитель выхлопа, выхлопной трубопровод

